12”0549 (K12n0549)

Linearized knot diagam

NN

3 7 8 11 12 2 6 5 6 8 9 10

TN
Soy
_ |

/ Solving Sequence
: —7—>3—>8~>4,10 » —-1— 9 — — CA.CR. C
A knot diagran{]] 26 272328281011 122 9 > 12 2> 5 —> G4 Cs, O

Ideals for irreducible component#ﬂ)f Xpar

I = (—u® —u? 4+ b, a—u, u* +u®—2u+1)

Iy = (—u® —u? + b, a—u, u* +u®+1)

I = (—u* +u® —u? + b, a—u, ub —u® +u* +ud +u® +u+1)

= (v’ +2u —ud —u?+b, -+ 20 +a—u, uS -’ +u +ud +u®Fu+1)

IY = {(—u* —u? 4+ 2b—u—2, =3u® —u* —u® +10a — 9u — 8, u® + 2u® + 2u* + 3u® 4 6u + 5)
I={0—u, —v*+a+u, uvb—u—1)

={(b—u v’ +a—u+1, u*—u®+1)

LY = {(—u?+b+u, a—u, v —u?+1)

M= a+1, u+1)

Ly=®-1,a,u—-1)

Ii=®-1a-1 u—-1)

II={a, b—1, v+1)

* 12 irreducible components of dim¢c = 0, with total 39 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter].

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
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http://www.layer8.co.uk/maths/draw/index.htm#Running-draw
https://github.com/CATsTAILs/LinksPainter

LI*=(—u>—u?+b,a—u, u*+u®—2u+1)

(i) Arc colorings

o= (1)

ag —
a7 =
az =

ag =

2ud +u? —2u+1
—ud 4+ u?+2u—1

(ii) Obstruction class = —1

(iii) Cusp Shapes = 3u? + 6u? — 12

in decimal forms when there is not enough margin.



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C7 ut +ud +6u +4du+1
€2,65,C6 ut —ud 4 2u+ 1
cs
€3 ut + 8u3 4 66u? + 56u + 13
C4, Co ut +6ud + 1202 4+ 9u + 3
C10, C12 ut — 28 + 1202 +Tu+1
c11 4w +6u +u+1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,C7 Yt 11y2 4+ 30y% — 4y + 1
C2,Cs, Ce y4_y3+6y2_4y+1
Cs
€3 y* + 68y° + 3486y% — 1420y + 169
¢4, Co y* — 12y +42y% — 9y + 9
4 3 2
€10, C12 Yo+ 20y° + 174y — 25y + 1
C11 y4—4y3+30y2+11y+1




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

0.621964 + 0.1877301
0.621964 + 0.1877301
0.526439 + 0.4447721

—1.130960 — 0.2502381

—9.36589 + 2.034891

U
a
b
U
a
b

0.621964 — 0.1877301
0.621964 — 0.1877301
0.526439 — 0.4447721

—1.130960 + 0.2502381

—9.36589 — 2.034891

u = —1.12196 + 1.053761

a = —1.12196 + 1.053761

b

= 247356 + 0.444771

17.5803 + 11.92911

—4.13411 — 5.759341

u = —1.12196 — 1.053761
a = —1.12196 — 1.053761

b:

2.47356 — 0.444771

17.5803 — 11.929171

—4.13411 4 5.759341




IL 1 ={(—u®—u?+b,a—u, u* +ud+1
2

(i) Arc colorings

o= (1)

1
ag = 0
1
a7 = U2
—Uu
a3 = _u3 + U
—u?+1
a8 = 'U,2
w—u—1
as = \ —ud —u?+u
U
alO = u3 _|_ u2
—u? -1
a1l = \ud+u?+1
w3
ay; = 1
—ud —u? +u
ag = U3 + u2
2u3 4 u?
a2 = —U

(ii) Obstruction class =1

(iii) Cusp Shapes = —3u? + 6u? + 6u — 6



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

c1 ut — w2+ 1

C2,Cs5,C8 w—ud 41
3 (u+1)*

C4,Co wtu+1l

6 ut Fud 41
7 ut +u? +2u® + 1

€10, C12 w42 —u+1
c11 ut —4ud +8u2 —9u+5




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1, e yt 3yt 6y  + 4y + 1
C2,Cs, Ce y4_y3+2y2+1
cs
cs (y-1)*
¢4, ¢y yt+ 2yt —y+1
€10, C12 yt 4y + 6%+ 3y + 1
c11 y4+2y2—y+25




(vi) Complex Volumes and Cusp Shapes

Solutions to I3 v—1(vol + /—1C5) Cusp shape

0.518913 + 0.6666101
0.518913 + 0.6666101 1.43949 — 4.223981 | —2.28100 + 7.423781
—0.727136 + 0.9340991

0.518913 — 0.6666101
0.518913 — 0.6666101 1.43949 + 4.223981 | —2.28100 — 7.423781
—0.727136 — 0.9340991

—1.018910 + 0.6025651
—1.018910 + 0.6025651 0.20545 4 7.543871 | —8.21900 — 8.725961
0.727136 + 0.4300141

—1.018910 — 0.6025651
—1.018910 — 0.6025651 0.20545 — 7.543871 | —8.21900 + 8.725961
0.727136 — 0.4300141

> & €|l & 8| & 8|l & &




I 1 = (—u*+ v —u?+b,a—u, u® — v’ +u* +ud +u?>+u+1)

(i) Arc colorings
0
ag = U
aeg =
ay =
az =
ag =

—2u® — 2u* — 2u2 — 4u — 1>

(
(
(
(
a4 = ( u® + 2ut + 2u% + 3u+ 1
(
(
(
(
(

uw— 2% —u—2
—ud+u?+u+1

7u4+u37u2+u
ut —ud + u?

—u4+u3—u2—2u—1>

a12 = u
wW—ut+ut+ 20 +u+1
a5 = _u2
(ii) Obstruction class = —1

(iii) Cusp Shapes = —5u® + 10u* — 11u® + u? — 6
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Ct w = +5ut =5 U —u+1

C2,Cs5,Cg Wt +ut =P+ —u+1
€3 ub — 3u® + 45ut + v + 155u% — 155u + 37
C4 u® + 3u® — 4u* — 1763 + 2u% + 32u + 24
C8 wl— 2w + 2ut +3u? —6u+5
Co ub — 5u® + 8ut — 9u + 120 — 2u 4 3
c10 ub 4 u® + 1du* + 1943 + 60u® + 44u + 61
c11 wl— 2w —ut + T — 4w —du+ 8
C12 ub — Tu® + 28ut — 65u + T8u? — 32u + 5

11



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,C7 Yo +9y° + 17yt — 152 + 2 +y+1
€2, Cs5, Co Yoy’ +5y 5+t Y+ L

€3 y® 4+ 81y° + 2341y* 4 13093y> + 27665y> — 12555y + 1369
Ca Y% — 17y 4 122y* — 44943 + 900> — 928y + 576
Cs y® +10y* — 2% + 29y — 6y + 25
Co y® — 9y° — 2y* + 97y + 15612 + 68y + 9
c10 y® + 27y + 278y* + 1353y> + 363632 + 5384y + 3721
11 Y% — 6y° + 21y* — 41y + 56y — 80y + 64
12 y® 4+ Ty + 30y* — 295y% + 2204y° — 244y + 25

12



Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

0.102788 + 0.8750921
= 0.102788 + 0.8750921
0.017830 + 0.5505691

2.61732 — 2.668541

—0.25508 +- 2.314681

0.102788 — 0.8750921
0.102788 — 0.8750921
0.017830 — 0.5505691

2.61732 4 2.668541

—0.25508 — 2.314681

—0.650074 + 0.4044551
—0.650074 + 0.4044551
0.005272 — 1.2448601

0.04312 4 4.553411

—9.55430 — 8.624381

—0.650074 — 0.4044551
—0.650074 — 0.4044551
0.005272 + 1.2448601

> & €|l & 8| & 8|l & &
Il

0.04312 — 4.553411

—9.55430 + 8.624381

w=1.04729 + 1.049097
a= 1.04729 + 1.049091
b= —2.52310 — 0.116591

17.9012 — 3.85631

—3.69061 4 2.175481

uw= 1.04729 —1.049097
a= 1.04729 — 1.049097
b= —2.52310 + 0.116591

17.9012 + 3.85631

—3.69061 — 2.175481
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IV.
I} = (—uS+2u* —u® —u?+b, —ud+2u’+a—u, ub—uS+u*+ud+u+u+1)

(i) Arc colorings

= (1)
)
;)

ag =
a7 =

az =

)
»

2P —2ut —2u2 —du—1
w+2ut +2u2 +3u+1

wd —2u? +u )

ag =

u® — 2ut + u® 4 u?

—2u +ut —5u? +1
2ub —2ut + 2 + 3 +u

u5—u +u>

wb + 2ut —3u +u
u® — 2ut + w4 u?

2ud — 3u? +3u3+2u+2>

a2 = u? —u

(o
(4
(-}
("
a4(
e
(
-
.- (.
o

—ub 2t — 3 — P u—2
as = —ut 4+ 2ud — 2

(ii) Obstruction class = —1

(iii) Cusp Shapes = —5u® + 10u* — 11u?® + u? — 6
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Ct w = +5ut =5 U —u+1

C2,Cg, C8 Wt +ut =P+ —u+1
€3 ub — 3u® + 45ut + v + 155u% — 155u + 37
Ca ub — 5u® + 8ut — 9u + 120 — 2u + 3
Cs wl— 2w + 2ut +3u? —6u+5
C9 u® + 3u® — 4u* — 1763 + 2u% + 32u + 24
c10 ub — Tud + 28ut — 65u> 4 T8u? — 32u + 5
c11 wl— 2w —ut + T — 4w —du+ 8
c12 ub 4+ u® + 14u* + 193 + 60u> + 44u + 61
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,C7 Yo +9y° + 17yt — 152 + 2 +y+1
Ca, 6, Cs TRl TR NN VL N Ve R TRV |

€3 Y% + 81y° 4 2341y* + 13093y> 4 27665y> — 12555y + 1369
Ca y% —9y° — 2y* + 97> + 156y + 68y + 9
Cs Y%+ 10y* — 23 + 29y% — 6y + 25
€9 Y% — 17y5 4+ 122y* — 44943 + 900> — 928y + 576
c10 Y%+ 7y° + 30yt — 29513 + 2204y% — 244y + 25
11 Y% — 6y° + 21y* — 41y + 56y — 80y + 64
C12 Y%+ 27y5 4 278y* + 135313 + 3636y> + 5384y + 3721

16



(vi) Complex Volumes and Cusp Shapes

Solutions to I} v—1(vol + /—1C5) Cusp shape

0.102788 + 0.8750921
1.378180 — 0.1271011 2.61732 — 2.668541 | —0.25508 + 2.314681
—1.77318 4 0.523821

0.102788 — 0.8750921
1.378180 + 0.1271011 2.61732 4 2.668541 | —0.25508 — 2.314681
—1.77318 — 0.523821

—0.650074 + 0.4044551
—1.12379 4 1.902761 0.04312 4 4.553411 | —9.55430 — 8.624381
0.968507 + 0.5579331

—0.650074 — 0.4044551
—1.12379 — 1.902761 0.04312 — 4.553411 | —9.55430 + 8.624381
0.968507 — 0.5579331

> & €|l & 8| & 8|l & &

w=1.04729 + 1.049097
a = —1.25438 — 1.048381 17.9012 — 3.85631 | —3.69061 4 2.175481
b= 2.30468 — 0.555011

uw= 1.04729 —1.049097
a = —1.25438 + 1.048381 17.9012 + 3.85631 | —3.69061 — 2.175481
b= 2.30468 + 0.555011

17



V. Ig =
(—u*—u?+2b—u—2, —3u’—u*—u3+10a—9u—8, ub+2u’+2u*+3u?+6u+5)

(i) Arc colorings
0
a2 = u
ag =
a7 =
az =

ag =

3.5 1,4 ., 9. 4
2ud + sut + +]0u—%5>

2
1 12 24
Sud+ But o Byt 2
|4
O —2ut — su —%u2—3u—4

(
(
(
(
M(ﬂﬂ4ﬁ+ﬁ—M—m
(
(
(
(
(

(ii) Obstruction class = —1

_ 1,5, 3,4 53 2_3
(iii) Cusp Shapes = —gu’ + ju* + ju’ +3u® — Ju — 1

18



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C7 u® + 10u? + 2u® + 2902 + 6u + 25
Ca2,Cq wl— 2w + 20t +3u? —6u+5
€3 u® + 2u° + 92u” + 48u® + 977u® + 228u + 785
C4, Co u® —5u® + 8ut — 9w + 12u® — 2u+3
cs, C8 W+t =P+ —u+1
€10, C12 u® + 4u® + 18u” + 66u” + 77u® — 18u + 1
ci1 u® + 9u® + 35u? + 71u® + T5u® + 33u + 5

19



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
1, ¢q y® 4 20° + 158y* + 626y° + 1317y + 1414y + 625
C2,Ce Y%+ 10y* — 23 + 29y% — 6y + 25

€3 y® +180y° 4 - - - + 1481906y + 616225
C4, Co y® — 9y° — 2y + 97y + 15612 + 68y + 9
c5,Cs Py 5t 5+ +y+1
€10, C12 y® 4+ 20y° — 50y* — 1438y + 8341y% — 170y + 1
11 Y% — 11y° 4+ 97y* — 375y> + 1289y% — 339y + 25

20



Solutions to I

(vi) Complex Volumes and Cusp Shapes

V=1(vol + v=1CS)

Cusp shape

u = —0.858009 + 0.6951941
a = 0.428810 + 0.5571081
b= 10.017830 — 0.5505691

2.61732 4 2.668541

—0.25508 — 2.314681

u = —0.858009 — 0.6951941
a= 0.428810 — 0.5571081

2.61732 — 2.668541

—0.25508 +- 2.314681

b= 0.017830 4 0.5505691
u=0.909086 + 0.9303071
a= 0.428314 + 0.1401281 0.04312 — 4.553411 | —9.55430 + 8.624381
b= 10.005272 + 1.2448601

0.909086 — 0.9303071
0.428314 — 0.1401281
0.005272 — 1.2448601

u =

a =

0.04312 4 4.553411

—9.55430 — 8.624381

—1.05108 4 1.148311
1.042880 — 0.9512711

17.9012 — 3.85631

—3.69061 4 2.175481

—1.05108 — 1.1483171
1.042880 + 0.9512711
= —2.52310 + 0.116591

b
U
a
b= —2.52310 — 0.116591
U
a
b

17.9012 + 3.85631

—3.69061 — 2.175481

21



VLIY=(b—-—u, —u*4+a+u, ud—u—1)

(i) Arc colorings

o= (1)

ag —
a7 =
az =

ag =

(ii) Obstruction class =1

(iii) Cusp Shapes = —5u? — 2u — 5

22



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1, €10, €12 ud —2u fu—1
€2,C4,C9 ud —u+1
3 u? 4+ 2u? —3u+1
C5,C8 w4+ u? -1
6 w—u—1
7 w42+ u+1
C11 u — 5u® + 8u —5

23



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C7,C10 y3_2y2_3y_1
C12
C2,C4,Cq y3_2y2+y_1
Cy
€3 y? —10y* + 5y — 1
C5,C8 -y +2y—1
11 y® — 9% + 14y — 25

24



(vi) Complex Volumes and Cusp Shapes

Solutions to I

u = —0.662359 + 0.5622801
a

V=1(vol + y/=1C)

0.78492 — 1.307141

0.662359 + 0.5622801
0.662359 — 0.5622801

bi

1.37919 — 2.828121

Cusp shape

—4.28809 + 2.599751

0.78492 + 1.307141

0.662359 — 0.5622801
1.32472

a= 0.430160

b=—

1.37919 + 2.828121

—4.28809 — 2.599751

b= 1.32472

—2.75839

—16.4240

25



VILI!=(b-—u, v ?+a—u+1, u> —u?+1)

(i) Arc colorings

o= (1)

1
ag = 0
1
a7 = U2
—u
a3 = \—u?+u+1
—u?+1
ag = u?
1
aq = O
—u?4u—1
aio = U
u—2
an =\ —u?+u
w?—1
a1: _u2
—u? -1
ag = U
u— 2
a2 =\ —y?2 4y

(ii) Obstruction class =1

(iii) Cusp Shapes = —2u? + Tu — 10

26



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossin
Yy
c1,C3 wWeuw+2u—1
C2,C8,Cy wW4u—1
3
C4,Cs u’ —u—+1
6 ud —u? +1
cr wWHul+2u+1
1)3
€10, C12 (u+1)
C11 U3
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
3 2 -~
c1,C3, C7 v 3yt +2y—1
C2,Cg, Cg yg_y2+2y_1
C9
€1, C5 Y -2y —1
10, C12 (y—1)°
C11 y3

28



(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1(vol + y/=1C)

Cusp shape

uw=0.877439 + 0.7448621
a = —0.337641 — 0.5622801
b= 0.877439 + 0.7448621

1.37919 — 2.828121

—4.28809 + 2.599751

uw= 0.877439 — 0.7448621
a = —0.337641 + 0.5622801
b= 0.877439 — 0.7448621

1.37919 + 2.828121

—4.28809 — 2.599751

u = —0.754878
a = —2.32472 —2.75839 —16.4240
b= —0.754878
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VIIL I¥ =

(i) Arc colorings
0

ag = U

ag —

a7 =

az =

ag =

aip =
wHu—1
ail = —U
w?—1
a; = _u2
—u? 4+ 2u
ag = u? —u
w+u—1
a2 = —U

(ii) Obstruction class =1

(—u?+b+u, a—u, u> —u?+1)

(iii) Cusp Shapes = —2u? + Tu — 10
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossin
Yy
c1,C3 wWeuw+2u—1
C2,Cy4,C5 wW4u—1
Ce w—u? 41
cr wWHul+2u+1
3
cg, Co u’ —u—+1
1)3
€10, C12 (u+1)
C11 U3
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
3 2 -~
c1,C3, C7 v 3yt +2y—1
C2,C4,Cs y3_y2+2y_1
Ce
€8, Cy Y -2 +y—1
10, C12 (y—1)°
C11 y3

32



(vi) Complex Volumes and Cusp Shapes

Solutions to I§

V=1(vol + y/=1C)

Cusp shape

uw=0.877439 + 0.7448621
0.877439 + 0.7448621

b = —0.662359 + 0.5622801

1.37919 — 2.828121

—4.28809 + 2.599751

0.877439 — 0.7448621
0.877439 — 0.7448621
b= —0.662359 — 0.5622801

1.37919 + 2.828121

—4.28809 — 2.599751

= —0.754878
a = —0.754878 —2.75839 —16.4240
b= 1.32472
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IX. Iy = (b, a+1, u+1)

(i) Arc colorings
0
a9 = —1
ag —
ar =

az =

-1
a0 =\ 0
-1
aj; =\ -1
-1
a; = -1
-1
ag = 0

(ii) Obstruction class = —1

(iii) Cusp Shapes = —18

34



(iv) u-Polynomials at the component

Crossings

u-Polynomials at each crossing

C1,C7,C10

C11,C12

u—+1

C2,C3,Cs

Ce, C8

C4, Cg

u

35



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C3
Cs5,C6, CT y—1
€8, €10, C11
C12
Cy4,C9 Yy

36



(vi) Complex Volumes and Cusp Shapes

Solutions to I§ V—1(vol + v/—1CS) Cusp shape
u = —1.00000
a = —1.00000 —4.93480 —18.0000
b= 0

37



X.Ijy=(b-1,a, u—-1)

(i) Arc colorings
0
ag = 1
ag —
ay =

az =

— = = O = O
— —

Q

=

| I
— —_ =
N—— N——

O = O =

N—— —o— =

(ii) Obstruction class = —1

(iii) Cusp Shapes = —6
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C2,C3
C4,Ce,C7 u+ 1
g, Co
Cs5, C10 U
€11, C12 u—1
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C3
C4,Ce,C7 Yy — 1
€8, (9, C11
C12
Cs5, C10 )

40



(vi) Complex Volumes and Cusp Shapes

Solutions to 17 V—1(vol ++/—=1CS) Cusp shape
u = 1.00000
a= 0 —1.64493 —6.00000
b= 1.00000

41



XL Iy =(b—-1,a—-1, u—-1)

(i) Arc colorings

w= (1)

w= (o)
w= (1)
w=(3)
w= (7
= (01)
wo=(1)
wn=3)
w=(1)
w= (1)
we=(1)

(ii) Obstruction class = —1

(iii) Cusp Shapes = —6
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C2,C3
C4, Cs5, Ce u+ 1
C7, Co
Cg, C12 U
€10, €11 u—1
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(v) Riley Polynomials at the component

Crossings

Riley Polynomials at each crossing

C1,C2,C3
C4, C5, Cg
€7, €9, C10

C11

Cg,C12

44



(vi) Complex Volumes and Cusp Shapes

Solutions to I}y V—1(vol ++/—=1CS) Cusp shape
u = 1.00000
a = 1.00000 —1.64493 —6.00000
b= 1.00000
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XII. I} ={a, b—1, v+1)

(i) Arc colorings

w= ()

1
ag = 0
1
ay = 0
-1
az = O
1
ag = \0
-1
aq = 0
0
ajp = \1
-1
aj; =\ 1
-1
a; = O
-1
ag = 1
-1
a1z = 1
2
as = \ —1
(ii) Obstruction class = —1

(iii) Cusp Shapes = —6
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C2,C3 "
C6,C7,C11
C4,C5,Cg u—+1
€9, C10, C12
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C3 Yy
C6,C7,C11
C4,Cs,C8 Y — 1
€9, C10, C12
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(vi) Complex Volumes and Cusp Shapes

Solutions to I} V—1(vol +/=1CS) Cusp shape
v = —1.00000
a= 0 —1.64493 —6.00000
b= 1.00000
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XIII. u-Polynomials

Crossings u-Polynomials at each crossing
o w(u+1)3(u® — 2u® +u — 1)(u® —u? + 2u — 1)3(u* —u® + 2u% + 1)
S(ut +ud 6w+ du 4 1) (u® 4 10ut + 2P + 29u? + 6u + 25)
(= u® 4 5ut — 5ud Fu? —u o 1)?
¢3, s, Cg u(u — 1) (u4 1) (w® —u+1)(u® +u? — 1) (u* —u® + 1) (u* —u® 4+ 2u + 1)
(u® = 2u® + 2u* + 3u? — 6u +5)(u® +ud +ut —uP +u? —u 1)
u(u — 1) (u+ 1)%(w® — u? + 2u — 1)2(u® + 2u® — 3u + 1)
c
3 - (ut 4 8u® + 66u> + 56u + 13)
- (u® = 3u® 4 45u* + u® + 155u® — 155u + 37)?
- (u® 4 2u® + 92ut 4 48u® + 97Tu? + 228u + 785)
u(u+1)3(w® —u+ 1% +u? = 1)(u* +u+ 1) (u* +6ud + - +9u+3)
€4, Co 6 5 4 3 2 2
- (u® = bu’ 4 8u” — Yu’ + 12u” — 2u + 3)
(u® 4 3u® — 4ut — 17U 4 2u” 4 32u + 24)
6 u(u —1)(u4 1) (u® —u —1)(u® —u? + 12 (u* — v+ 2u + 1) (u* +ud +1)
(u® = 2u® 4 2ut 4 3u? — 6u +5)(u® +u® +ut —ud U —u1)?
o w(u+1)3(u® +u? + 2u+ 1)3(u® + 2u® + u + 1) (u* + u® + 2u® + 1)
(ut +u® 6w+ du 4+ 1) (u® 4 10ut + 2u® + 29u? + 6u + 25)
(= u® 4 5ut — 5ud Fu? —u o 1)?
u(u —1)(u41)%w?® = 2u? +u — 1)(u? + 2u? —u+1)
€10, €12 S(ut =20 1207 + Tu + 1) (u® — Tu® - — 32u + 5)
(u® 4+ u® + 14ut 4+ 19 + 60u? + 44u + 61)
- (ub + 4u® + 18u* + 66u® + TTu? — 18u + 1)
u'(u—1)*(u+1)(u® — 5u? + 8u — 5) (u* — 4u® + 8u? — Ju + 5)
C11

C(ut 4 4 6u? Fu+1)(u - 20® — ut - Tud — 4u? — 4u o+ 8)?
(u® + 9u® 4 35u + T1ud + T5u® + 33u + 5)
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XIV. Riley Polynomials

Crossings Riley Polynomials at each crossing

y(y —1°(° —29° =3y — 1)(v° + 3y° + 2y — 1)

e er (y* +3y% + 6y + 4y + 1) (y* + 1Y% + 30y — 4y + 1)
(y® +9y° + 17yt — 15y° + y* +y +1)?

- (y® + 205 + 158y* + 626y> + 1317y? + 1414y + 625)

Ca, €5, Co yly— 1 =202 +y - 1) -y + 20— D’ (v* — > + 27 + 1)
cs Syt =P 4 6% — 4y 4+ 1) (y° + 10y* — 2% + 2992 — 6y + 25)
WS+ + 5y 5y Y+ 1)

yly — 1) (y* — 10y> + 5y — 1) (v + 3y* + 2y — 1)°

- (y* + 68> + 34861> — 1420y + 169)

- (y8 + 8135 + 2341y* + 13093y + 27665y — 12555y + 1369)>
- (y5 +180y° + - - - + 1481906y + 616225)

C3

Y- -2 +y -1’ -+ 2 - D+ 27—y + 1)
o (yt —12y° + 4297 — 9y +9)

(yS — 17y5 + 122y — 4493 + 900y* — 928y + 576)

(y® —9y® — 2y* + 97y + 156y% + 68y + 9)?

y(y—1)°(y* —29® =3y — D(y* + 49> + 69> + 3y + 1)
€10, C12 : (y4 +20y> + 174y? — 25y + 1)

(y® 4 Ty° + 30yt — 295y° + 2204y — 244y + 25)

- (y® 4 20y° — 50y* — 1438y> + 8341y% — 170y + 1)

(yS + 27y5 + 278y* + 1353y + 3636y> + 5384y + 3721)

y (y— 1)y — 9° + 14y — 25)(y" + 2y° — y + 25)
€11 Syt — 4y® +30y% + 11y 4+ 1)

(y® — 115 + 97y* — 375y + 1289y* — 339y + 25)
S (y8 — 6y° + 21y* — 41y + 56y% — 80y + 64)2
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